Polaris RZR-4 CV Boot Guards

P/N 10714
Includes:
1. (2) Front CV Boot Guarrds (LH &
RH)

2. (2) Rear CV Boot Guards (LH &
RH)

(2) Clamps (radiused corners)
(8) 1/4-20x2-1/4 Flange hd Bolt
(6) 1/4-20x3/4” Flange hd Bolt
(14) 1/4-20 Nylon Nuts

(14) 1/4 Flat Washers

NownkEw

Installation:

Front

1. Remove the front wheels

2. Using (2) 3/4” and (1) 2-1/4” long
bolts, washers, and nuts. Attach the
front guards to the A-arm. You will
be putting the bolts through existing
holes.

Rear

1. Remove the rear wheels.

2. Using the remaining 2-1/4” bolts
attach the cv guard to the rear A-
arm. You will be using existing
holes.

3. Attach the outer end of the guard
using the clamps and 3/4°” bolts.
See the picture.




